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Instructions to candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer each question in 250 words.
4) Answer should be precised and to the point.

Q1) Explain the problem in defining economic development. [10]
OR

Define economic growth. Explain the indicator of economics growth.

02) What is poverty? Explain the problem measurement of poverty. [10]
OR

Explain the impact of inequality on process of development.

03) Explain the Harrod - Domar Economic growth model. [10]
OR

Explain the Big-Push theory of Rosenstein - Rodan.
04) What is migration? Explain the causes of migration. [10]

OR

Explain the problem of urbanization.
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05) What is sex ratio? Explain the sex ratio of Indian populution. [10]

OR
Explain the characteristics of less developed countries.
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gaqar ;- 1) @F g9 qigar.
2) ITFIHSIT ek TeATE GUI T FElfAard.
3) UA% 9T 250 IGId qigl.
4) I IAH! T YR AT
5) @eulasl ge U1 Y9AafIHT UgTe.

Ty 1) eridieh o= sarEan fvsita wvara JuT=an Jue TE . [10]
e
aTfeleR gedie saTean T ? e gediar FAcyre Tag .
g7 2) TG TEUTH R ? STRGATS WINTHTY ShvATd el THET TUY . [10]
e
T anfeies faera wfshaafier uftomm wue =&,

97 3) anidie gedia TWie SHR ATTHT TIE . [10]
feman
TS TeH i gereht Taegia e .
97 4) TAATHR TEUTH R ? TATAT! hIR0T TIY . [10]
fepan

ITE{IRUTI=AT |HET T8 .



g7 5) o uiR U T ? ARATe ke foRT TuiR T . [10]
Teram
JTeUTaeh fea ST SIS TUY .
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